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[1 port-group SwitchJ Config-Ethernet0/0/1] #port-group 1 mode
active I J O interface port-channel D 0D U OO0 OO0 OO0 OO
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[1 Switch(Config)#interface port-channel
1Switch(Config-1f-Port-Channell)# O O 10 0O O O O O Switchl
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[1 Switchl#configSwitchl (Config)#interface eth 0/0/1-3Switchl
(Config-Port-Range)#port-group 1 mode activeSwitchl
(Config-Port-Range)#exitSwitchl (Config)#interface port-channel
1Switchl (Config-1f-Port-Channell)#Switch2#configSwitch2
(Config)#port-group 2Switch2 (Config)#interface eth 0/0/6Switch2
(Config-Ethernet0/0/6)#port-group 2 mode passiveSwitch?2
(Config-Ethernet0/0/6)#exitSwitch2 (Config)# interface eth
0/0/8-9Switch2 (Config-Port-Range)#port-group 2 mode
passiveSwitch2 (Config-Port-Range)#exitSwitch2 (Config)#interface
port-channel 2Switch2 (Config-If-Port-Channel2)# 0 O U O O [
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